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 WORKSHEET : 

 
 

 
Distributive  Property - 

Simplify(expand) 
 

 

 
Simplify (no parentheses, no like terms, no negative exponents) 
 
 
1. 

 
4(3 + 5) =  

 
2(5 - 3) = 

 
(17 - 5) ÷ 4 =  

 
2. 

 
4(196) = 

 
7(84) =  

 
!
!
(x + 12) =  

 
3. 

 
-4(x + 6) = 

 
-2(5 - y) = 

 
- (x + 6) = 

 
4. 

 
- (x - 6) = 

 
2 - (x + 6) = 

 
3 - 2(x + 4) = 

 
5. 

 
10 - 2(x - 4) = 

 
3 - (x + 4) = 

 
3(x - 5) - 2(x + 4) = 

 
6. 

 
 (x - 5) - 2(x - 4) = 

 
-(x - 5) - 2(x - 4) = 

 
(a + b)(b + a) =  

 
7. 

 
(x + 1)(x - 2) =  

 
(x - 1)(x - 2) = 

 
5(x + 1)(x - 2) = 

 
8. 

 
(a + b)2 =  

 
(ab)2 = 

 
(5 + x)2 =  

 
9. 

 
(5x)2 =  

 
5(x)2 =  

 
yx2 =  

 
10. 

 
(yx)2 = 

 
x(5 + x) =  

 
y(5 + x) =  
 
 

 
 
 
 
  
 
 



 
 
 ANSWERS : 

 
 

 
Distributive Property - 

Simplify(expand) 
 

 

 
Simplify (no parentheses, no like terms, no negative exponents) 

 
1. 

 
4(3 + 5) = 32 

 
2(5 - 3) = 4 

 
(17 - 5) ÷ 4 = 

!
!
 

 
2. 

 
4(196) = 4(200 - 4) = 800 
- 16 = 784 

 
7(84) = 7(80 + 4) = 
560 + 28 = 588 

 
!
!
(x + 12) = 

!
!
 + 3 

 
3. 

 
-4(x + 6) = -4x - 24 

 
-2(5 - y) = -10 + 2y 

 
- (x + 6) = -x - 6 

 
4. 

 
- (x - 6) = -x + 6 

 
2 - (x + 6) = -x - 4 

 
3 - 2(x + 4) = -2x - 5 

 
5. 

 
10 - 2(x - 4) = 18 - 2x 

 
3 - (x + 4) = -x - 1 

 
3(x - 5) - 2(x - 4) = x - 7 

 
6. 

 
 (x - 5) - 2(x - 4) = -x + 3 

 
-(x - 5) - 2(x - 4) =  
-3x + 13 

 
(a + b)(b + a) =  
a2 + 2ab + b2 

 
7. 

 
(x + 1)(x - 2) = x2 - x - 2 

 
(x - 1)(x - 2) =  
x2 - 3x +2 

 
5(x + 1)(x - 2) = 5x2 - 5x - 10 

 
8. 

 
(a + b)2 = a2 + 2ab + b2 

 
(ab)2 = a2b2 

 
(5 + x)2 = x2 + 10x + 25 

 
9. 

 
(5x)2 = 25x2 

 
5(x)2 = 5x2 

 
yx2 = yx2 

 
10. 

 
(yx)2 = y2x2 

 
x(5 + x) = x2 + 5x 

 
y(5 + x) = xy + 5y 
 
 

 
 
 
 
 



 
 
 
 
KEY CONCEPTS: 
 
Understand the basic principles of mathematics that help us manipulate expressions into 
something more meaningful or easier to calculate. Learn how to use the ideas with some 
variable expressions and not just numerical values to highlight why these properties are 
important for algebra. 
 
1. Distributive Property. 
  
 a(b + c) = ab + ac 
 
2. Learn to expand expressions within parentheses/learn to pull out common factors  
 a. 4(x + 3) = 4x + 12 
 b. x2 + x = x(x + 1)  or 77 + 7 = 7(11 + 1) = 7(12) 
 
3. Use distributive property to do mental math 
  a. 6(107) = 6(100 + 7) = 600 + 42 = 642  
  
4. Avoid common distribution mistakes 
 a. (x + y)2 ≠ x2 + y2 instead x2 + 2xy + y2 
 
 b. (3x2) ≠ 3x2 instead (3x2) = 9x2 
 
 c. 10 - (x - 4) ≠ 10 - x - 4 instead 10 - x + 4 
 
5. Distribute properly with binomials and polynomials 
 a. (x + 3)(x - 5) = x2 - 2x - 15   (FOIL method) 
 b. x(x2 - 2x - 15) = x3 - 2x2 - 15x 


